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Corollary 2:  If z is homogeneous function of degree n in x and y, and z = f((u) then x— + y—L—l = ff,(?u))

Corollary 3 Ifzis homogeneous function of degree ninxandy,and z = f (u) then
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1. Ifu= sm_l(xyz) prove thatx— + y——+ Z— = 3tanu.
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2. Ifu=e , prove that, x Fy + yay 2ulogu.
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3. Ifu=logx+logy,provethat,xg—z+yg—z=2.
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4. Ifu=sin"t [i—i;:—:ﬁ;—z], prove that xg—z + yg—; = Elatanu.
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8. Ifu=sinh™! (ii:ﬁ), prove that x? %i—lzl + ny;;—al; + y? giyl; = — tanh3u.
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10. Ifu = log(x® + y* — x*y — xy?), prove that
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12. Ifu = sin™"y/x* + y*4, find the value of x 6x2+2xyaxay+y 57"
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